TBC : 16/17/ET Booklet Sr. No.

Roll No.

DO NOT GPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

PUBLIC ADMINISTRATION
PAPER 11

Time Allowed : 17 Hours] [Maximum Marks : 100

(oS B I

10.
12.
13.

Instruction for the Candidates

Write your Roll Number in the space provided on the top of this page. Do not write anything else

on the Test Booklet except in the space provided for rough work.

This paper consists of fifty (50) multiple-choice type of questions. All questions carry equal marks.

At the commencement of the examination, the question booklet will be given to you. In the first 5

minutes, you are requested to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this
cover page, Do not accept a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any other discrepancy should be got
replaced immediately by a correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet will be replaced nor any
extra time will be given,

Each item has four alternatives response marked (A), (B), (C) and (D). You have to darken the -

circle as indicated below on the correct response against each item completely with Blue/Black

ball peint pen as shown below. H.B. Pencil should not be used in blackening the circle to indicate
responses on the answer sheet.

Example: @ ‘ @ @ Where (B) is correct response.

Your responses to the each item are to be indicated in the OMR Sheet provided to you only. If you
mark your response at any place other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put any mark on any part of
the OMR Sheet, except for the space allotted for the relevant entries, which may disclosed
your identity, or use abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the Examination Hall. You are however,
allowed to carry original question booklet and duplicate copy of OMR Sheet on conclusion of
examination. '

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy found in the English and Hindi Versions, the English Version will be
treated as final.

CARRYING AND USE OF ELECTRONICS/COMMUNICATION DEVICES IN
EXAMINATION HALL ARE NOT ALLOWED.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1 P.T.0.



PUBLIC ADMINISTRATION

Paper 11

Time Allowed 1% Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) multiple choice questiohs, each question carries
two (2) marks. Attempt all of them.

1. Who among the following has defined Public Administration as ‘the action
part of Government, the means by which the purposes and goals of Government

are realized’ ?
(A) F.W. Taylor (B) L.D. White
(C) Woodrow Wilson : (D) Elton Mayo

2. Which of the following are the factors responsible for increasing the importance

of Public Administration in modern times ?
(I) Emergence of welfare state

(ID) Scigntiﬁc and technological advancements
(I1I) Rapid increase in population

(IV) Economic planning

Select the correct code :

(A) L 1II

(B) I, III

(C) 1, II, III

(D) 1, II, III, IV

T.B.C. : 16/17/ET-11 2
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3. The experiments conducted by F. W. Taylor were intended :
(A) To understand the motivation of workers
(B) To understand the process of mental revolution
(C) To discover the best way to carry out specific tasks
(D) To understand the human behavior in the organization

4. Who said “Science of administration is the latest fruit of the study of the

science of politics” ?
(A) Kautilya (B) L.D. White
(C) Woodrow Wilson (D) Frank J. Goodnow

5. Which one of the following statements is incorrect in respect of Herbert Simon’s

decision making theory ?

(A) Decision is as important as doing

(B) Decisions are, in final analysis, composite
(C) Administrative man maximizes utility

(D) There is always a means-end relationship

6. Which one of the following is not a function of the Committee on Subordinate

Legislation ?

(A) To evolve a systematic pattern of the terms of delegation

(B) To improve the methods of publicity of the rules

(C) To lay down rules and regulations on the tables of the House

(D) To achieve uniformity in rule making process

T.B.C. : 16/17/ET-I1 4
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T ‘Promotions are made on the basis of examination scores.” Which one of the

following is iml'alied by the above statement ?

(A) The Head of the Department is authorized to conduct examinations.

(B) Authority is given to the Public Service Commission to decide ‘promotions.

(C) Discretion is taken away from the superiors. -

(D) The responsibility to determine the merit is assigned to the superiors.
8. The principle of span of control has come under revision due to :

(A) Higher degree of unionism among employees

(B) Increasing resort to automation and mechanization

(C) High level of education among public employees

(D) Obedience and loyalty generated by conduct rules

9. Which one of the following has attempted to construct the theory of public

organization in tune with consumer interest and individual preferences ?
(A) Development Administration

(B) Human Relations Theory

(C) Public Choice Theory

(D) Behavioral Approach

T.B.C. : 16/17/ET-1I 6
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10. The New Public Administration is considered as anti-positivist, which

means :

(A) It advocates social change

(B) It rejects the definition of Public Administration as Value-Free’
(C) Realization of social equity is the purpose of Public Administration
(D) Meaningful studies in Public Administration

11. Match List-I with List-II and select the correct answer from codes given

below :
List I List II
(Author) (Books)
(@) Gerald E. Caiden (Z) Public Administration and Public
Affairs
(b) Robert Golembiewski - (i) Modern Public Administration
(¢) Nicholas Henry ‘ (iii) Public Administration as a

Developing Discipline

(d) F. A. Nigro and L. G. Nigro (@) Dynamics of Public
' Administration : Guidelines to
Current Transformation in
Theory and Practice

Codes :

@ @) @ @
A @& Gv G @
B @ O @ )
(C) Gv) @) @ @
M) @) G@v @ @

T.B.C. : 16/17/ET-II 8
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12. The principal disadvantage of hierarchy is :
(A) Rigidity in organization
(B) Delay in disposal of cases
(C) Create superiority or inferiority feeling in organization
(D) Decentralized decision making
13. The most logical criterion to distinguish a line function from staff is :
(A) The authority relationships
(B) The functional relationship
(C) The grouping of functions
(D) The departmentalization
14. The principle of span of control means :
(A) An employee should receive orders from one superior only
(B) The control or supervision of the superior over the subordinate
(C) The number of people being controlled

(D) The number of subordinate employees that an administrator can effectively
direct

15. The central principle which derives from McGregor’s Theory is :
(A) Coordination (B) Scalar principle

(C) Integration (D) Direction and Control

T.B.C. : 16/17/ET-I1 - 10
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16. A Prismatic Society is characterized by :
(A) A high degree of ‘homogeneity’
(B) A high degree of ‘flexibility’
(C) A high degree of ‘heterogeneity’
(D) None of the above |

17. The United States established the merit system of recruitment to the civil

services through :

(A) The Pendleton Act, 1883

(B) The Budget and Accounting Act, 1921
(C) The Hatch Act, 1939

(D) The Civil Service Reforms Act, 1978

18. Which one of the following devices was created in Britain in 1967 to address

maladministration ?

(A) Ombudsman

(B) Whitley Council

(C) Parliamentary Commissioner

(D) Procurator-General -

T.B.C. : 16/17/ET-11 12
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19. The term ‘Shadow Cabinet’ in Britain refers to :
(A) The cabinet that is still in the process of formation
(B) The cabinet committee that‘functions under the guidance of the cabinet
(C) A group of opposition party members with assigned roles
(D) The team of intellectuals advising the cabinet
20. Development Administration is :
(A) Change oriented (B) Hierarchical
(C) Centralizing (D) Bureaucratic
21. Ecology of Administration means :
(A) Environment and Administration
(B) Social system in which administration evolves
(C) Structure of Administration
(D) Goal of Administration

22. In the post-Second World War period; role of bureaucracy has increased

in :
(A) Liberal states (B) Socialist states
(C) Developing states . (D) All of these

TB.C.: 16/17/ET-II . | 14
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23.

24.

25.

26.

Civil servants play an important role in the formulation of policy by :
(A) Supplying necessary information

(B) Tendering necessary advice to ministefs and other executives

(C) Both (A) and (B)

(D) Neither (A; nor (B)

The initiative for the creation of new All India Service can be taken only

by :
(A) Lok Sabhg ) (B) Parliament
(C) President (D) Rajya Sabha

Who among the following contributed to the establishment of Indian Institute

of Public Administration in New Delhi ?

(A) Paul H. Appleby (B) G. B. Pant

(C) Vallabhbhai Patel (D) L. D. White
Who is identified as ‘Kingpin’ in the following statement :

“He is the kingpin of the secretariat, his control extending to all its other

departments” ?

(A) Chief Minister (B) Chief Secretary

- (C) Home Secretary (D) Governor

T.B.C. : 16/17/ET-11 16
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27. The District Collector is no longer the channel of communication between

the Government and the people because of :

(I) End of Colonial Rule

(IT) Rise of more effective democratic institutions in the district
(ITI) Increasing political consciousness of the people

(IV) Lack of high caliber officers

Choose the correct answer from the codes given bélow :

A I, II

(B) I, III

(C) II, III

(D) III, IV

28. In which year Lal Bahadur Shastri National Academy of Administration was

set up at Mussoorie ?
(A) 1947 (B) 1957
(C) 1959 (D) 1958
29. Cabinet Secretariat is a :
(A) Line Agency (B) Auxiliary and Staff Agency

(C) Staff Agency (D) Line and Staff Agency

T.B.C. : 16/17/ET-II 18
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30.

31.

- 82.

33.

The Indian Federation is based on the pattern of :

(A) USA (B) Switzerland

(C) Canada (D) Russia

A division in the Central Secretariat is put under the charge of :

(A) Joint Secretary (B) Under secretary

(C) Director | - (D) Additional Secretary

Who was the chairman of the 2nd Administrative Reforms Commission ?
(A) M. C. Chagla (B) Morarji Desai

(C) K. Hanumanthaiah (D) M. Veerappa Moily

In the context of budgeting, the term, ‘Guillotine’ is used with reference

to :
(A) Appropriation Bill (B) Consolidated Fund Charges
(C) Voting on Demands (D) Finance Bill

T.B.C. : 16/17/ET-11 20
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34. Collective word for a body of administrative officials is :
(A) Organization (B) Management
(C) Institution (D) Bureaucracy

35. Which of the following methods of training consists in putting the new entrant

to a job, and to leave him to learn from the work ?
(A) Training by experience

(B) Method of Formal Instruction

(C) Training by communication

(D) Training by Conference

36. Which of the following methods of sampling is attributed to a researcher who

selects a sample of 100 out of the total population ?
(A) Cluster Sampling

(B) Random Sampling

(C) Systematic Sampling

(D) Stratified Sampling

T.B.C. : 16/17/ET-II ' 22
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37.  Field study is largely related to :
(A) Real life situation (B) Laboratory situation
(C) Experimental situation (D) All of these
38.  Which one of the following is not a tool in social science research ?
(A) Sampling (B) Questionnaire
(C) Lab Experimentg (D) Interview

39. New Industrial Policy which led to liberalization of economy in India was

introduced in :
(A) 1990 (B) 1991
(C) 1992 (D) 1993

40.  In which year was the National Rural Employment Guarantee Act (NREGA)

rechristened as Mahatma Gandhi National Rural Employment Guarantee Act

(MGNREGA) ?
(A) 2005 (B) 2006
(C) 2008 - (D) 2009

T.B.C. : 16/17/ET-I1 24
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41. Gender-related Development Index is used in :
(A) World Development Report
(B) Human Development Index
(C) UNDP Report
(D) UN Report

42. As per the Right of Children to Free and Compulsory Education Act, 2009,

every child shall be provided free and compulsory education in the age-

group of :
(A) 3-14 years (B) 4-16 years
(C) 6-14 years (D) 1-14 years

43. Which one of the following is a Fundamental Right ?
(A) Right to Employment (B) .Right to Food
(C) Right to Shelter D) | Right to Pr;)perty
44. Local self-government is included in :
(A) State List (B) Union List

(C) Concurrent List (D) None of these

T.B.C. : 16/17/ET-11 26
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45.  Match List-I with List-II and select the correct answer from the codes given

below :
List I List II
(@ M. P. Follett () The Ecology of Public
Administration

(b) F. Hergberg (i) Dynamic Administration
(¢) F. W. Riggs (1) Motivation and Personality
(d) A. Maslow (tv) The Motivation to work
Codes :

@ G @ @
A) @ @ @ @G
B) @ @ GG @
(C) Giz) G @ ()
D) G@v) G @ @

46. Gender budgeting aimed at empowering :

(A) Women | (B) Tribals
(C) Weaker Sections (D) Workers

T.B.C. : 16/17/ET-II 28
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47. Grass Without Roots is authored by :

(A) A. D. Gorawala (B) George Mathew

(C) L. C. Jain (D) Mohan Dharia
48. Borough is a unit of local government in : =

(A) UK (B) USA

(C) France (D) India

49. Which of the following Schedule of the Constitution of India is related to the

functions of urban local government ?
(A) Ninth (B) Tenth
(C) Eleventh (D) Twelfth
50. Who advocated Bazar anteen Model ?
(A) Fred W. Riggs (B) Max Weber
(C) George F. Gant (D) V. A. Pai Pannanidikar

T.B.C. : 16/17/ET-II : 30
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(A) 9# (B) 108
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